
 

 

 

                

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 Aşağıdaki çarpma işlemlerini yapalım. 

 

 

 

 

 

 

 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 

 

 

Yusuf KAYA 

ÇARPMA İŞLEMİNDE BİR ( 1 ) 
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2 x 1 = …... 

9 x 1 = …... 

6 x 1 = …... 

1 x 7 = …... 

1 x 2 = …... 

5 x 1 = …... 

1 x 4 = …... 

1 x 10 = …... 

Bir doğal sayının 1 

ile çarpımı, sayının 

kendisine eşittir. 

Anne, bir sayıyı 

1 ile çarparsak 

ne olur ? 
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8 x 1 = …... 1 x 1 = …... 1 x 8 = …... 3 x 1 = …... 

9  x  1  =  9 


